G 3

|SHURJOINT®

A 7721 Rz (7 v )
T

Ao A TT2I PR d v 2R A% R1E > T 3 2R
SepniREF AT R TV R R AdRE- mEEOA
S o SRz RSB R TR G B En E
(EPDM) #B 2 § 4 B 5% 00 iy e & o 4= 3 4 6 %
Hrfd & RAL3000 iz d ik 54 0 7 E R BB AL
WE K-

APPROIVED

M3 LA SRR Redd] L, REE

TR A #BA2 X ER %A AT

10

YEAR
LIMITED
WARRANTY

TR o) F

i FERA AF R

www.shurjoint.com

N TT2L BB p T A

Bt E T
B e 4 +32.-0/ ek 2R T < i
iE x A F (CWP)* +0.13, -0 T# A B C D 2+ ¥
& v PSI & v & v #E v #E v #E v & & ERr
AE 4 Bar 2N E A PAE -] PAS -} AS -] A -4 A AR
2x% 300 1.50 1.97 2.50 1.57 5.04 2.87 Y x 2% 2.4
50 x 15 20 38 50 64 40 128 73 M10 x 55 1.1
2XYs 300 1.50 1.97 2.50 1.57 5.04 2.87 Y x 2% 2.4
50 x 20 20 38 50 64 40 128 73 M10 x 55 1.1
2x1 300 1.50 2.00 2.68 1.57 5.04 2.87 Ve x 2%8 2.6
50 x 25 20 38 51 68 40 128 73 M10 x 55 1.2
2x 1% 300 1.75 2.08 2.80 1.57 5.04 3.22 Ya x 2% 2.9
50 x 32 20 45 53 71 40 128 82 M10 x 55 1.3
2x1% 300 1.75 2.08 2.80 1.57 5.04 3.22 Y x 2% 2.9
50 x 40 20 45 53 71 40 128 82 M10 x 55 1.3
2% X Y2 300 1.50 2.25 2.80 1.89 5.75 2.87 % x3 3.1
65 x 15 20 38 57 71 48 146 73 M12 x 75 14
2% XY 300 1.50 2.32 2.88 1.89 5.75 2.87 % x3 31
65 x 20 20 38 59 73 48 146 73 M12 x 75 1.4
2% x 1 300 1.50 2.28 2.95 1.89 5.75 2.87 % x3 33
65 x 25 20 38 58 75 48 146 73 M12 x 75 15
2Y%2 X 1% 300 2.00 2.40 311 1.89 5.75 3.22 % x3 35
65 x 32 20 51 61 79 48 146 82 M12 x 75 1.6
2% x 1% 300 2.00 2.40 311 1.89 5.75 3.22 % x3 35
65 x 40 20 51 61 79 48 146 82 M12 x 75 1.6
3xY% 300 1.50 247 3.19 2.20 6.39 2.63 % x3 35
80 x 15 20 38 63 81 56 160 67 M12 x 75 1.6
3x ¥ 300 1.50 244 3.19 2.20 6.39 2.63 % x3 35
80 x 20 20 38 62 81 56 160 67 M12 x 75 1.6
3x1 300 1.50 2.50 3.19 2.20 6.39 2.63 % x3 3.7
80 x 25 20 38 64 81 56 160 67 M12 x 75 1.7
3x1V 300 2.00 2.80 3.50 2.20 6.39 3.46 % x3 4.2
80 x 32 20 51 71 89 56 160 88 M12 x 75 19
3x1% 300 2.00 2.80 3.50 2.20 6.39 3.46 % x3 4.4
80 x 40 20 51 71 89 56 160 88 M12 x 75 2.0

F-01-1/4 Rev.K 20160309


http://www.shurjoint.com/
http://www.shurjoint.com/

=

SHURJOINT® B Fo1

T 7721 MR o p T A

e ¥
e BN +3.2,0/ hine BR 54
R EY | (CWPY*  +0.13,-0 T# A B c D <  f
== PSI E2= Ea e wed ¥ E e EF=
3x2 300 2.50 2.83 358 2.20 6.39 3.98 %x3 51
80 x 50 20 64 72 91 56 160 101 M12x75 2.3
Ax Ve 300 1.50 3.00 3.70 2.83 7.48 2.63 %x3 42
100 x 15 20 38 76 94 72 190 67 M12x75 1.9
4% 300 1.50 2.95 370 2.83 7.48 2.63 %x3 42
100 x 20 20 38 75 94 72 190 67 M12x75 1.9
Ax1 300 1.50 3.03 3.70 2.83 7.48 2.63 %x3 4z
100 x 25 20 38 7 94 72 190 67 M12x75 2.0
4x 1% 300 2.00 3.19 3.89 2.83 7.48 335 %x3 48
100 x 32 20 51 81 99 72 190 85 M12 x 75 2.2
4x 1% 300 2.00 319 3.89 2.83 7.48 335 %x3 51
100 x 40 20 51 81 99 72 190 85 M12 x 75 2.3
4x2 300 2.50 3.38 413 2.83 7.48 3.98 %x3 59
100 x 50 20 64 86 105 72 190 101 M12 x 75 2.7
4X 2% 300 2.75 323 437 2.83 7.48 4.40 X3 73
100 x 65 20 70 82 11 72 190 112 M12 x 75 3.3
4x3 300 350 323 4.40 283 7.48 535 % X 3% 123
100 x 80 20 89 82 112 72 190 136 M16 x 90 5.6
5x2 300 2.50 413 4.88 339 9.29 4.00 % X 3% 9.2
125 x 50 20 64 105 124 86 236 102 M16 x 90 4.2
5x 2% 300 2.75 3.89 5.00 3.39 9.29 4.65 % X 3% 9.9
125 x 65 20 70 99 127 86 236 118 M16 x 90 4.5
6 X% 300 2.00 4.48 5.03 386 10.07 350  %x55i6 0.7
150 x 15 20 51 114 128 98 256 89 M16 x 135 4.4
6x1 300 2.00 433 5.00 3386 10.07 350 % X556 0.7
150 x 25 20 51 110 127 98 256 89 M16 x 135 4.4
6x 1% 300 2.00 4.29 5.00 3386 10.07 366 % x55i6 0.7
150 x 32 20 51 109 127 98 256 93 M16 x 135 4.4
6x 1% 300 2.00 429 5.00 3.86 10.07 366  %x5sie 9.7
150 x 40 20 51 109 127 98 256 93 M16 x 135 4.4
6x2 300 2.50 4.45 5.29 3.86 10.07 398 %x5sie 106
150 x 50 20 64 113 132 98 256 101 M16 x 135 4.8
6% 2% 300 2.75 437 5.50 3386 10.07 465  %x5s06 119
150 x 65 20 70 111 140 98 256 118 M16 x 135 5.4
6x3 300 350 433 550 3.86 10.07 539 %x5si6 132
150 x 80 20 89 110 140 98 256 137 M16 x 135 6.0
6x4 300 450 421 550 3.86 10.07 646 %x5si6 145
150 x 100 20 114 107 140 98 256 164 M16 x 135 6.6
8x% 300 2.75 531 5.82 472 12.87 4.4 Yo x 4% 125
200 x 15 20 70 135 148 120 327 112 M20 x 120 5.7
8x1 300 2.75 531 5.98 472 12.87 4z Yo x 4% 125
200 x 25 20 70 135 152 120 327 112 M20 x 120 5.7
8x 1t 300 2.75 531 5.98 472 12.87 3.98 i x 4% 125
200 x 32 20 70 135 152 120 327 101 M20 x 120 5.7
8x 1% 300 2.75 531 5.98 472 12.87 3.98 Yo x 4% 125
200 x 40 20 70 135 152 120 327 101 M20 x 120 5.7
8x2 300 2.75 531 6.54 472 12.87 398 Ve x 4% 136
200 x 50 20 70 135 166 120 327 101 M20 x 120 6.2
8x 2% 300 2.75 5.39 6.54 472 12.87 4.09 Ve x 4% 139
200 x 65 20 70 137 166 120 327 104 M20 x 120 6.3
8x3 300 350 5.35 6.54 472 12.87 5.04 Ye x 4% 1556
200 x 80 20 89 136 166 120 327 128 M20 x 120 7.1
8x4 300 450 5.24 6.54 472 12.87 6.46 Yo x 4% 176
200 x 100 20 114 133 166 120 327 164 M20 x 120 8.0

FYOSBRI B E RS IESE o
*1ER Y kR

F-01-2/4 Rev.K 20160309



&|SHURJOINT® m

B 7721 #FRE

o+ ,fﬁ, : O (F5%) %% “T'Nitrile (4 /: - 4) @§ * >+ 7
L4544 & ASTMAB36,Gr. 65-45-12 & ASTMA395, B A SR g A BAEE F R

+1500°F (+66°C) Kk -

1 e A ¢ -200F I +180°F(-29°C T +82°C) -
TR S o S p St Hok H KR R AZE +150 OF (+66°C) &
R0 5 W R 424 +140°F (+60°C) -

Gr. 65-45-15 » b i 44 5 & 65,000 psi (448 MPa) -

LS| R fﬁ ¢ &% RAL3000 =4 ik -

O #7 : #uzes - I R 8O

O @57 HH% % (RAL3000 d £ 8 ¢3¢ ) DoAv if;?l_,, F;Lijl?gglafmme“
HBLE A 4

RS %% E’EPDM(¢ 75 @ — i£%) " SHE A

7 4ziF +230°F (+110°C) 4 #1-k B o 7h i * 3% i 352 BT ©

110°C T ek ok » AV R T G F a3 g EREIE ARE AR B B IR 55 B & ASTM A449-83a (&

AR N A AL I Sl & o A183 Gr. 2) » & 4t & 110,000 psi (758 MPa) - + &

R NT G  HP SARE XSV ES o 1 0E A0y 0 FAE AT > B & ASTM A563 -

A -29°F (-34°C) 1 +230°F (+110°C)* -
MRS B RIS T BT g
#HE > EPDM #E7ZZRY T EF B -

(n‘-% &% - CV __

Ov & i iR 3 BOFGAGC) v L iy 4.2 % 7721 P2 Cv iE

WAl e A+

JR*F A e A LI SN2 ° P o
1.0 psi B*%pFehs Sdsin E 7 A B w2 g Cv & Fof |05 Cv &

[ 2
ove Q e 15 5 100
/ % 20 2% 125

AP 20 65

1 3
25 200

WP Cv=ind 4k 2 80
R 1% 45 4 350

Q =kimE (FAhssbi) 32 100

AP =3 4w F R (psi) ];110/2 60

N o L e

A8 7721 PRz REEE

T kL e B
Evd [ FERRIER/OR Evd [ FERER[AC
Ya 2.0 2 10.0
15 0.6 50 3.2
Ya 4.0 2% 20.0
20 1.2 65 6.0
1 5.0 3 27.0
25 15 80 8.1
1Ys 6.0 4 35.0
32 1.8 100 10.5

1% 8.0
40 2.4

F-01-3/4 Rev.K 20160309



Gl

SHURJOINT® B Fo1

i

° B AL ERS(CWP AKRA) FHA? RS E% - g # & ASTM F1476 v AWWA C606 4. 2 chipl:# b+ 4 kB4 (CWP) »
FE o FE A R E AR S o B v R B TR EEEE A A A o

° FYLEGET AR A BT N S RS 0 D D FREE SRR cFERA A AT R OEATRETR -

® RHEFERGF - pELE ST LA EHREA o 1% B (AWWA C606 5.2.3) »

° BL LTS ‘,f, FE G a2 B Gk LRRE R .

o 10AFRHER*HWUBAST I P FHFMLIR/IETER DT AR 2 EREE .

° A7 AFTIFLRASRFERE RN 2T AL e

F-01-4/4 Rev.K 20160309



